-FirId " X-Intercepts _

In order to find the x-intercepts, we mustlety =0. Ify =0, thenwe

can solve the quadratic equation in order to find the x values.
We can solve the quadratic equation by factoring or by using the
quadratic formula.

This equation can be factored pretty easily, so it would be quickerto
factorthe equation in order to solve for x.

y=x2-4x+3
(x-3)(x-1) Factor the equation.
x-3=0 x-1=0 Seteach factor equalto 0. (The Zero
Factor property)
x=3 x=1 Solve each equation. /
The x-intercepts are (3,0) and (1,0) veaxisbxtc
2 The x-coordinates of these
ry points are the solutions of
the quadratie equation:
axtehexse=0
X- Intercepts '
(1,0) & (3,0) / \
: S, :
. \/

Example 1: Solve

i —5=10
Step 1 \Write the equation in standard 5
form: x"+dx—5=0

Step 2: Factor completely. [x + 5} (x — 1} =10

Step 2: Apply the Zero Product Rule x+35=0or x-1=0

Step 4: Solve the linear equations in ste
3 P q P lx= -5 arx=1

Example 2: Solve

3x% 4+ 132 =10
fsotrirf:l 1: Write the equation in standard - 2, 13% 10— 0
Step 2: Factor completely. [x + 5) [3x —2) =10
Step 3: Apply the Zero Product Rule 1+5=0 ar 3x—2=10

r= —35 3x—-2=10

Step 4: Solve the linear equations in step Iy — 2
3. -
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